: (1)6
(3)
i (5) Cannot be determined

PREVIOUS QUESTION

IBPS BANK PO/MT CWE

HELD ON :

REASONING

1. An office bus driver starts from
t) re office, drives 2 km towards
North, takes a left turn and
drives for 5 km, He then takes
a left turn and drives for 8 km
before taking a left turn again
and driving for 5 km. The driver
finally takes a left turn and
drives 1 km before stopping.
How far and towards which di-
rection should the driver drive
to reach the office again?

(1) 3 km towards North

(2) 7 km towards East

(3) 6 km towards South

(4) 6 km towards West

(5) 5 km towards North

Directions (2 - 3) : Read the
following information carefully and

answer the questions which follow : ‘

A, B, G, D, E and F live on differ-
ent floors in the same building h@-
ing six floors numbered one to ijﬁt
ground floor is numbered 1, the floor
above it, number 2 and sp on and the
topmost floor is numbef‘l A

A lives on aieven numbered
floor. There are two 3)ee!v the
floors on which D and F liveg F.lives
on a floor‘@hove D's floor, D s not
live on floor fumber 2. B %Ces ot live
on an odd numbered floor. C.does not
live on'&ly‘ he floors below F's floor.
E.does not"ive on a floor immediate-
ly above or iately below the
floor on whi livi

2. Who am@ngst Bhe following live
on the flfors exactly between D

-

and F ?
(1)E,B 2)C, B
3)E (4)AE

(5) B
3. On whigh of the following floors
does Bflive ?
(2) 4th
(4) 5th

18.09.2011

Directions (4-5) : Study the
following information to answer the
given questions :

in a five letter English word
(which may or may not be.a meaning-
ful English word), there
ters between L and P. S'is
immediately next to L.
one letter between
wards the right of

ends of the word
(2) F is not placed imme
next to A
3) There are two lette -
‘ een A and E in th&word
s formed
(4) Pisplaced second to the right
ofE
(5) None is correct
5, Whick of ihe following words will
be formed based on the given

conditions?
(1) SPAEL (2) PEALS
(3) LEAPS (4) SEPAL
(5) LAPSE

Directions (6 -10) : In each
question below are two/three state-
ments followed by two conclusions
numbered I and II. You have to take
the two/three given statements to be
true even if they seem to be at vari-
ance from commonly known facts and
then decide which of the given conclu-
sions logically follows from the given
statements disregarding commonly
known facts.

Give answer (1) if only conclu-
sion I follows

Give answer (2) if only conclu-
sion II follows.

Give answer (3) ifeither con-
clusion I or conclusion II follows.

Give answer (4) if neither con-
clusion I nor conclusion II follows.

Give answer (5) if both con-
clusion I and conclusion II follow.

6-7): Statementf

All ghdersﬂe paﬁichuteé

lane.

!- chute is
-ﬂll Y‘Lanes are here)pters.

No h hcopter is a glider.
All achutes being heli-
ite s is a possibility.
7. Con usions:
No glider is an airplane.
H. All gliders being helicopters
is a possibility.
8. Statements:
Some mails are chats.
All updates are chats.

Conclusions:
I. All mails being updates is a
possibility.

II. No update is a mail.
(9-10): Statements :

No stone is a metal.

Some metals are papers.

All papers are glass.

9. Conclusions:

I. No glass is a metal.

II. Atleast some glass is met-

al.

10. Conclusions:

I. All stones being glass is a

possibility.

II. No stone is a paper.

Directions (11-15): Study the
following information to answer the
given questions:

A word and number arrange-
ment machine when given an input
line of words and numbers rearrang-
es them following a particular rule.
The following is an illustration of in-
put and rearrangement.

Input : 52 peak 91 snow freeze 46
cold 15 high 31 73 trek

Step I : 15 52 peak snow freeze 46
cold high 31 73 trek 91

Step II : 15 31 52 peak snow freeze

46 cold high trek 73 91
Step III: 15 31 46 peak snow freeze
cold high trek 52 73 91
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Step IV: 15 31 46 cold peak snow
freeze high trek 52 73 91

Step V : 15 31 46 cold freese peak
snow high trek 52 73 91
Step VI: 15 31 46 cold freeze high

peak snow trek 52 73 91

Step VI is the last step of the
rearrangement. As per the rules fol-
lowed in the above steps, find out in
each of the following questions the
appropriate steps for the given input.
Input for the questions.

Input: 67 hot sun 19 best 83
ire 49 ace 77 cut 37
11. How many steps would be need-

ed to complete the arrange-

ment ?
(HX (2) VIII
3) X (4) VII

(5) None of these

12. Which Step number would be
the following output?
19 37 49 ace best hot. sun ice cut

67 77 83
(D11 (2) VI
3)V 4)Iv

(5) None of these

Directions (16 - 20): Study the
following information carefully and
answer the given questions.

Representatives from eight dif-
ferent Banks viz. A, B, C, D, E, P, G
and H are sitting around a circular
table facing the centre but not neces-
sarily in the same order. Each one of
them is from a different Bank viz.
UCO Bank, Oriental Bank of Com-
merce. Bank of Maharashtra, Canara
Bank, Syndicate Bank, Punjab Na-
tional Bank, Bank of India and Dena
Bank.

F sits second to right of th
resentative from Canara Bank.
resentative from Bank of Indi
immediate neighbour of thi
tative from Canara Ba
ple sit between the rep,
Bank of India and B
immediate neighbou
Neither C nor E igfan immedfate
neighbour of either Bor the repregén-
tative from Canara Bank. Repres@n-
tative from Bank of Maharashtra si
second to right of D, D is neither the
representatlve of Canara Bank no

and re
of each other.

13. Which of the following would be Bank of G and the represent,
the Step 1?7 | tive from Bank are immedia:
(1) 19 37 49 hot sun best ice ace boul's ofea other. B is nott
cut 67 77 83 r& tive'of UCO Bank. Only
(2) 83 67 hot sun best ice 49 ace 'p sonsits between C and the repre-
77 cut 37 19 tative from Oriental Bank of
(3) 19 67 ace best hot sun ice 49w merce
77 cut 37 83 H sits third to left of the repre-

(4) 19 67 hot sun best 10‘4
77 cut 37 83

(5) None of these 1 r \
14. Which of the followil(would }

the final argangement?

(1) 67 77 83ace best cut hot ice
sun 19 37 49 F
(2) 1998 49 ace best cut hot ice

= sun 6
(3) 19 37 49 83. ace best

st cut hot

cut hot i
(4) 19 37 49
sun 67 77 3
(5) None of t
@5. In Step IV, 1ch of the follow-

~ ing word/mnumber would be on
Tth positionf{from the right) ?

(1) sun (2) best
3) 67 (4) cut
(5) None of these

r

sentative from Dena Bank. Represen-
tative from Punjab National Bank
sits second to left of the representa-
tive from Syndicate Bank.

16. Four of the following five are
alike in a certain way based on
the given arrangement and thus
form a group. Which is the one
that does not belong to that
group?

(1) H - UCO Bank

(2) A - Canara Bank

(3) D - Bank of Maharashtra
(4) E - Syndicate Bank

(5) F - Punjab National Bank

17. Which of the following is true
with respect to the given seat-
ing arrangement?

(1) B is the representative from
Bank of Maharashtra
(2) C sits second to right of H

(3) The representative from
Dena Bank sits to the imme-
diate left of the representa,
tive from UCO Bank

(4) A sits second to right of the
representative frorn Rankef
India

(5) The representati {from
Bank of Mahadtrq and
Syndicate Bankf are imme-

diate neighbowuts of each oth i

. am‘n t the follo
B and th
rese atlve rom Bank of I dla"

1

o

exac

(1)A¥and t epresentatlve
from ank
(2)F and

(3)H an .ﬁle representative
from Bank of Maharashtra
(4) Hand G
(5) Representatives from Syndi-
cate Bank and Oriental
Bank of Commerce
19. Who amongst the following is
thegrepresentative from Orien-
tﬁank of Commerce?
A (2)C
3)H “4) G
(5)D
20. Who amongst the following sits
second to left of B ?

1c 2 H
(3) The representative from Ca-
nara Bank

(4) The representative from
Punjab National Bank
(5)G
Directions (21-25): Each of the
questions below consists of a ques-
tion and three statements numbered
I, IT and III given below it. You have
to decide whether the data provided
in the statements are sufficient to
answer the question.
21. How many daughters does P
have?
/1. B andD are sisters of M.

If. M's father T is husband of
P.

III. Out of the three children
which T has, only one is a
boy.

(1) Only I and III

(2) All I, IT and IIT are required

to answer the question.

(3) Only II and III
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22.

23.

24.

(4) Question cannot be an-
swered even with all I, IT and
11
(5) Only I and 1T
Who among A, B, C, D, E and F
each having a different height,
is the tallest?
I.  Bis taller than A but short-
er than E.
II. Only two of them are short-
er than C.
III. D is taller than only F
(1) Only I and II
(2) Only I and III
(3) Only IT and IIT
(4) All 1, IT and III are required
to answer the question
(5) All I, II and III are not suffi-
cient to answer the question
Towards which direction is vil-
lage J from village W ?
I.  Village R is to the west of
Village W and to the north
of Village T.
II. Village Z is to the east of
Village J and to the south
of Village T.
Village M is to the north
east of Village J and north
of Village Z.
(1) Only III
(2) Only IT and IIT
(3) All I, IT and IIT are required
to answer the question

IIT.

(4) Ouestion cannot be adem

swered even with all I, IT and

111 .‘
(5) None ofthese.‘.

On which day of th Qk shart-

ing from Monday Manoj vi

it Chennai ? Fa

I. Man took leaye ! on
Wednédsday.

II. noj visited Chennai the
r his mother's visit

' tohis e
III. Manoj her visited
Manoj'sfhous@ neither on
Mondayfhor onfThursday
(1) Only II afid IIT

(2) Only I and IT
(3) Only I and IIT
(4) All 1, I§and III are required

to answier the question

(5) Ouestion cannot be an-
sweredieven with all I, IT and
111

25.

following information
answer the questions

Chennai and Hyde
ferent vehicles

D'Zire and Ford Iko|
females among them one in each’
There are at least two persons in eal

car.

How is 'go' written in a code lan-

guage?

I. 'now or never again' is wri t-
ten as 'torn ka na sa' in that
code language.

II  youcome again now'is writ-

ten as 'Ja ka ta sa' in that

code language

'again go now or never' is

written as na ho ka sa torn'

in that code language

(1) Only I and IIT

(2) Only II and III

(3) Only I and IT

(4) Al1 1, II and IIT are required

to answer the questlii

(5) None of these

Directions (26-30);

II1.

P.QR,8 TV,

. There are

R48 not travelling with Q
W.T, a I%ravelling with onl§ Z

and theg are

5
Hy
Js by

t travelling to Ch
trayelling in Honda City' to
ad. S is sister of P andqx
rd Ikon. V and R travel to-

ther. W does not travel to Chennai.

26.

27.

28.

Members in which car are trav-

elling to Chennai ?

(1) Honda City

(2) Swift D' Zire

(3) Ford Tkon

(4) Either Swift D' Zire or Ford
Tkon

(5) None of these

In which car are four members

travelling ?

(I) None

(2) Honda City

(3) Swift D'zire (4) Ford Tkon

(0) Honda City or Ford Ikon

Which of the following combina-

tions represents the three fe-

male members?

(1) QSZ

(2) WSZ

(3) PSZ

(4) Cannot be determined

(5) None of these

31. It has

29. Who is travelling with W ?

(1HOnlyQ

(3) Both P and Q
(4) Cannot be determined
(5) None of these

(2) Only P

30. Members in which of the follo

ing combinations a elhng
in Honda City? «

(1) PRS (

(3) PWS

(4) Data inadegua e J

(5) Non, ofthese {
i} reported 1R recent

fT ery large nimber
legS{;n the
cantat ‘%1

engineering col-

ntry remain va-

of the admission
session.

Which o the following may be

the probable cause of the above

effect? |

(1) There has been a consider-
able decrease in hiring of
engineering graduates due to
economic slowdown in the
recent years

i Students have always pre-
ferred to complete gradua-
tion in three years time in-
stead of four years for engi-
neering.

(3) The Government has recent-
ly decided to provide post
qualification professional
training to all engineering
graduates at its own cost.

' (4) There has always been a very
poor success rate among the

engineering students.
(5) None of these

32.-The condition of the roads in the

city has deteriorated consider-

ably during the first two months

of monsoon and most of the
roads have developed big pot
holes.

Which of the following can be a

possible effect of the above

cause?

(1) The municipal corporation
had repaired all the roads in
the city before onset of mon-
soon with good quality ma-
terial

(2) A large number of peopje
have developed spine relat-
ed injuries after regularly
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33.

34.

commuting long distances by
road within the city.

(3) The municipal corporation
has been careful in choosing
the contractors for repairing
roads in the past.

(4) People always complain
about potholed roads during
the monsoon months.

(5) None of these
Majority of the students who
appeared in the final examina-.
tion of post graduate course in
management in the local college
have secured first class which
is comparatively higher than
the performance of students of
other management colleges in
the state.

Which of the following may in-

dicate that the results are not

in line with the general trend?

(1) The students of the local col-
lege are qualitatively better
than those of other colleges

(2) The authorities of the other
management colleges in the
state are stricter in their
standard of evaluation for
their students.

(3) The students of other man-
agement colleges in the
state performed better than
the students of the local col-

35.

(3) Government may declare
these areas as drought af
fected areas.

(4) People may blame the Gov-
ernment and agitate for not
getting adequate water for
cultivation

(5) None of these

There has been a spate of rail

accidents in India in the recent

months Killing large numbers of
passengers and injuring many
more. This has raised serious

. doubts about the railway's ca-

<

lege in all the previous exgss “

aminations.
(4) The local managenlint 1-
lege recentlygret KE(;d

many of its re fa.gl
members. ]Q
(5) None of these

F s
It has beefi reported i y
}‘}t the

leading ndwspapers t

curr ear's monsoon may be
below expected level as
tany parts of the country are
still not ge uate rain-
fall.

Which of the follo can be a

possible fallout of the above

situation ?

(1) People from those affected
areas with less rainfall may
migratefto urban areas

(2) Gover: nt may announce
ex-gratia payment to all the
farmflzf affected in these ar-

eas

36.

pability of providing sa&ty to
travellers.
Which of the followinggst:

ments substantiate, Vi

expressed in the e State-

ment?

(1) Indian Railw; e to
be known provide fbest

passenger
cent years
(2) People have no option other;
than travelling by rail ov
long distances.
(3) The railway tracks at man;
have been found to,
stré§sed due to wear

ear in'the recent times.
residents are always
the first to provide a helping

d to the passengers in the

event of such disasters.

(5) None of these
A few travellers were severely
beaten up by villagers recently
in a remote rural part of the
state as the villagers found the
movement of the travellers sus-
picions. The district authority
has sent a police team to nab
the culprits.

Which of the following infer-

ences can be drawn from the

above statement?

(An inference is something

which is not directly stated but

can be inferred from the given
facts)

()The villagers dislike pres-
ence of strangers in their vi-
cinity.

(2) Villagers are generally sus-
picious in nature.

(3) Travellers prefer to visit
countryside.

L
e

(4) The Government generally
provides protection to trav- 1
ellers across the country. Q

(5) None of these b

37. There has been a considerabl L |
drop in sales of four wheele

during the past six miont] w#esn J'

compared to then of four °

wheelers sold durig@ this peri- -

od last year. '

Which of the fol

probable cause of t|

phenomengn?

(Aﬁh overnment haim-

her excise duty on
wh el?rs at the begin-
ning of 't Es year.

(B)The 1?1:1( prices have risen
considerably during the past
eight months.

(C)The rate of interest on home
and car loans have been ris-
ing for the past seven
months.

(DAIL(A), (B) and (C)

(2)4A) and (C) Only
(B) and (C) Only

7 (4) (B) Only

(5) (A) Only

38. There is an alarming trend of
skewed sex ratio against wom-
en in India during the past de-
cade and situation may get out
of hand if adequate steps are not
taken to stop female foeticide.

Which of the following can be an

effective step to reverse the

trend ?

(A) The Government should im-
mediately completely ban
use of scanners/ sonography
on expectant mothers at all
health centres

(B) The Government should an-
nounce a substantial incen-
tive scheme for couples who
have at least one girl child.

(C) The Government should
launch a nationwide cam-
paign to create awareness
against female foeticide.

(1) (A) only

(2) (A) and (B) Only

(3) (B) and (C) Only

(4) All (A), (B) and (C)

(5) None of these

canbeth?

al've
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39.

40.

A very large number of techni-
cally qualified young Indians
are coming out of colleges every
year though there are not enough
opportunities for them to get
gainful employment.

Which of the following contra-

dicts the views expressed in the

above statement?

(1) Technically qualified per-
sons are far superior to those
with standard degrees like
BA/B.Sc¢/B.Com. etc.

(2) The Government has not
done effective perspective
planning for engaging tech-
nically qualified personnel
while authorising the setting-
up of technical colleges.

(3) A huge gap exists between
the level of competence of
technically qualified gradu-
ates and requirement of the
industry.

(4) Majority of the technically
qualified persons are mi-
grating from India to devel-
oped countries for better op-
portunities.

(5) None of these

The Government has appealed

to all citizens to use potable

Water judiciously as there is an ‘-

acute shortage in supply. Exces-

sive use may lead to huge scafer

city in future months.

Which of the assump‘ioﬂ: is

implicit in the abd%e st nt?

(An assumption iglso edn\g

supposed or, taken for gran

(1) People may ignore the ap
and conltinue using whter as
perthe: con51derat10r_1.

2) efiment may be able to

« tap tH®se who do not re-
spond to ppeal

(3) Govern' t may be able to
put in pld@e altdgnate sourc-
es of wat@r in the event of a
crisis sitflation.

(4) Large number of people may
positively respond to the
Governent's appeal and
help tidg over the crisis.

(5) Only pobr are going to suffer
from this shortage of water
supply

Directions (41-45) : The first figure in the first unit of the problem
figures bears a certain relationship to the second figure. Similarly one of the %
figures in the answer figures bears the same relationship to the second fig
in the second unit of the problem figures. You are therefore to locate the figur,
which would fit in the question mark. .y

Problem Figures

Answer Figures

]
=z [>—0 >0 | O
gl eluannn
. ,_‘V g ¢ it
m @ B W ®
42. TUSC P =
n | 2
== = dollloldlodillor 4ol
@ @3 4 6
43. = = BeS e &
@IEI o ? I} 2} ©@ IR IO @@
0] o ® @ <€
[2))] (2) 3 {4) B -
'_ AT X S CO] CO] ¢0] CAM™ s =
44, (x O x[a x s 2 JeaT) [anxia x0laTola x Tla x O
s ¢ ) D Txl T Al x| § k| T %
‘ { 2y @ 4) (5)
Q Y K v 7 &
. |ofzolothiol | 9 gl oGt | ftol-Slo g0 bilpe
- -] * A b v A

w @

y
3)

@ .6

ure

V)

'F

 Directions (46-50) : In each of the questions given below which one of
the five answer figures on the right should come after the problem figures on
the left, if the sequence were continued ?

Problem Fig‘ui'es

Answer Figures

A D, U, & P.

u o, Fx °A°U A " 2
sl o*i *OA o“n PAOU o |- | oy I'QAD PUO
' % Tn B %l Y oo S Rl W %

1 (2) {3) 4 &
. J Al RltecAalivEnuE Do Al afud il
47,12 fo) D ol ol DO 9o LB Hn O
“la Aaculncyl culan Yllpevineyncungculncu
n @2 G W G
- [=] [ o .
48| %o mxac] O 51 Cu |[comreTENTomA|somMTOmMA
g x A - i
C @ \’ @ 6B
49, [U*CCBISACTA|CT SOV ASO#ROOAXSC] logrso|oasToloasTo|oBrac|oasTC
AOOT SIBRQOQU WB!&UTOBC 08 UTO| lcuTSB|CABUGICHBUD|OUTSO|0%BUDI
m @ @ v @
P 2z Al zZ[z o6 rpP ZF ZP  ZF
50, Uufxouuoapx uDlOv Ak OvkDVkDOvVlv xOlxD v
s A =j= o RIR__ullg__ Ry RuU BlU BB
(1} 2 3 “) (511
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Directions (51-55): In each of
the following questions a short pas-
sage is given with one of the lines in
the passage missing and represent-
ed by a blank. Select the best out of
the five answer choices given, to make
the passage complete and coherent.
51. Poverty is the state for the ma-
jority of the world's people and
nations. Why is this ? - Have
they been lazy, made poor deci-
sions, and been solely responsi-
ble for their own plight? What
about their governments? Have
they pursued policies that actu-
ally harm successful develop-
ment? Such causes of poverty
and inequality are no doubt
real. But deeper and more glo-
bal causes of poverty are often
less discussed. Behind the in-
creasing interconnectedness
promised by globalization are
global decisions, policies, and
practices. These are typically
influenced, driven, or formulat-
ed by the rich and powerful.
These can be leaders of rich
countries or other global actors
such as multinational corpof&="
tions, institutions, and influen-
tial people. In the facio such
enormous externdlinfl the
governments of nxods qed

their people are o powegless.
As a result, in the global%(ﬂr

text, a fewlget wealthy while the
majori ggles. V¥lﬂ
I ugh to blame poor
- f .  peopl&ifor their own predica-
il ment?
(2) What igthie government do-
ing aboufllit ?

L 4
.

(3) Are the Wealthy ones in the
nation eyen aware of this?
- (4) The gov ent has already
taken measures to eradicate
the same.
(5) The huge gap between the

rich the poor in the na-
tion i W narrowing.
52. Women's rights around the

world are an important indica-
tor to understand global well-
being. A major global women's
rights treaty was ratified by the
majority of the world's nations

"r

<

53.

a few decades ago._ These
range from the cultural, politi-
cal to the economic, For exam-
ple, women often work more
than men, yet are paid less; gen-
der discrimination affects girls
and women throughout their
lifetime; and women and girls
are often the ones that suffer
the most poverty. Many may
think that women's rights are

only an issue in oountriq_whe
religion is law. Or even S€y

the report abo
Nation's Wom

der equality
of child su
ment for all of society, so
importance of women's rights

gender equality should
b restimated.
(YThis\treaty tackled and

solved a number of issues
related to women. i

Why is it then, that women
still face a number of prob-
lems on the domestic front?

(3) Thus, the woman today is
ten times more empowered
as compared to a woman say
about a decade ago.

(4) Women's activists across na-
tions have implored the re-
spective governments to
take this seriously,

(5) Yet, despite many successes
in empowering women, nu-
merous issues still exist in
all areas of life.

Research has shown that air

pollutants from fossil fuel use

make clouds reflect more of the
sun's ra’ys back into space. This
leads to an effect known as glo-
bal dimming whereby less heat
and energy reaches the earth.
__ .However, it is believed that
global dimming caused the
droughts in certain parts of the
world where millions died, be-
cause the northern hemisphere
oceans were not warm enough
to allow rain formation. Global
dimming is also hiding the true

. &

-

power of global warming.

cleaning up global dimmin 1

causing pollutants without taek- J

ling greenhouse ga!enﬁssions, L]

rapid warming has been ob- =

served, and vafns human r

health and ecological disasters

have resulted, @88 witnessed dut-

ing thejEuropean hea‘vaﬂ in

2&3, ?lh?; saw thous of

peoplediey, ?S

(1)f'his t! ou.]éi\, does not bring

y reliefin the problems
associated with climate
c] e.

(2) This phenomenon thus is
part of the climate change
problem.

(3) Scientists thus believe that
this phenomenon goes hand
in hand with global warm-
ing.

At first, it sounds like an
ironic saviour to climate
change problems.

(5) The answer to all our prob-
lems with respect to climate
change is definitely here.

54. Next to China, India is the most
populated country in the world.
__ Particularly, rush to tech-
nical and higher education has
increased as the scope for arts
and science has become lesser
and lesser due to lack of reforms
and upgradation in the course
structure and materials accord-
ing to the developments of the
world. Also, qualification in
higher education gives added
advantage to face successfully
competition in the job market.
(1) Keeping this in mind, the

government has provided
concessions in the admission
fees for the arts and science
streams in the country.

(2) Naturally there is too much
rush and competition in ev-
ery field.

(3) Despite this the rush to high-
er education is lesser.

(4) This population increase,
though, has not kept pace
with the knowledge expan-
sion around the world.

(5) In the next decade it will be-
come the most populous.
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55. Analysts and industry pundits
forecast that the notebook mar-
ket, which has been growing fast-
er than the desktop market for
the past three years, is expect-
ed to overtake the desktop mar-
ket by the year 2011-12. A fall
in prices, large deals from gov-
ernments and institutions, and
demand from consumers and
sectors such as education are
expected to help the notebook
numbers. According to research
agencies, the year 2010-11 saw
notebook volumes rise, and for
the first time a million plus
notebooks were sold in India in
a single quarter. The market has
grown nearly four times for note-
books. The demand is driven by
all sectors and a very buoyant
consumer market, which prefers
mobile computers. Entry-level
notebook prices have dropped
below the ?25,000 mark; this
has helped break the ice with
new customers: This drop in
notebook prices has been helped
by the drop‘
in the prices of the buildi
blocks that make a notebo
It's simple. With notebook VOJ

umes growing, the prices e
components are also bound to
come down

(1) All this hasg 11:‘ sln a no-
m

ticeable ch: ber
of large gov ders
foF inotebooks;

en en
were
tionally for sktops.

tra
%‘E use of this t e govern
still prefers desktops
to ooks and has passed
tend the same.
(3) The? ing them more
expe
(4) Thus fhe forecast for the com-
ing year states that desk-
w topsfwill be the preferred
4 techinology choice only for con-

rs who cannot afford the
itantly priced note-

solete after a decade or so.

1 Directions (56 - 60) : Rear-
range the following five sentences (A),
B), (C), (D) and (E) in the proper se-

quence to form a paragraph; then an-
swer the questions given below them.

-~

(A) A small wooden nest box is all

it has taken to rekindle all the
romance of bringing sparrows
and other birds back into our
cities and halt them from fad-
ing into the past like a forgot-
ten folktale.

(B) There is something wrong with

a city that remains unper-
turbed even as its birds desert
it.

(C) Thankfully, the situation is not

(D) Much as we try to

(E) And this desertion seems to be

<

57.

58.

59.

60.

as hopeless as it se‘ls

seemingly irreve:

generous
delicate

rear offspring.

with most metros
where house sparro

al t become a thing of the

past. u

hich of the following s!‘éuld be
the FER.ST sentence after rear-
angement ?

(DA (2)B
3)C (4)D
(B)E

Which of the following should be
the SECOND sentence after re-
arrangement ?

(ME (2)D
3 C (4)B
(®)A

Which of the following should be
the THIRD sentence after re-
arrangement ?

(DA (2)B
(3)C (4)D
(5)E

Which of the following should be
the FOURTH sentence after re-
arrangement ?

1) E (2)D
@) C (4) B
(5) A

Which of the following should be
the FIFTH sentence after rear-
rangement ?

&
(DA (2).B =
3)C (@)D 4
GE

Directions (61-65) : THe fol- }
lowing questions consist of a single

sentence with one bl y. You ares.

given six words as a]?er ¢hoices and r
from the six choices Jou have to ple

up two correct ansﬂrs either of A4 1ch

will makeitheisentence mgan gfully
com. ete
h ?3 lakhs'were_
om t e apartment by the po-
e. '
(A) manufactured
(B) llip_ red
(C) seized

(D) confiscated
(E) bought

(F) compared
(1) (A) and (D)
(3) (C) and (E)
(5) (C) and (D)

62° A man reportedly____two pass-
ports with the same photograph,
but under different names was
arrested by the commissioner's
Task Force.

(A) possessing

(B) examining

(C) surrendering

(D) mastering
(E) holding
(F) fixating
(1) (B) and (C)
(3) (A) and (E)
(5) (D) and (E)

63. The Hollywood star and the Bol-
lywood heroine are being__ as
the next big onscreen couple.
(A) labeled
(B) explained
(C) worshiped
(D) touted
(E) exclaimed
(F) shouted
(1) (B) and (D)

(2) (A) and (C)
(3) (B) and (F)
(4) (A) and (D)
(5) () and (D)

64. An organisation to the
mission of road safety has pre-
pared an action plan for reduc-
ing accidents and related inju-
ries and fatalities.

(2) (B) 4nd (C)
(4) (E) and (F)

(2) (C) and (F)
(4) (A) and (D)
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(A) specified

(B) inaugurated

(C) committed

(D) kicked off

(E) succumbed

(F) dedicated

(D(C)and(F) (2) (A) and (E)

(3) (C) and (E) (4) (D) and (F)

(5) (A) and (0)
65. The ability of a woman to do

well does not on whether
it is a mart's world or not, be-
cause everyone has his/her own

opportunities.

(A) trust (B) depend
(C) reckon (D) live
(E)rest (F) believe

(1) (D) and (E)

(3) (A) and (F)

(5) (C) and (D)

Directions (66-70) : Below is
given a single word with options to
its meaning in different contexts. You
have to select all those options which
are synonyms of the word when the
context is changed. Select the correct
alternative from (1), (2), (3), (4)and
(5) which represents all those syn-
onyms.

66. LABOUR

(A) expedite

(B) to move faster

(C) controlled

. (D) toil
1)Only(D)
(2) Both (A) and (C)

(3) Only (B), (C) al‘l(D; ‘\_

(4) Only (A), (C)an
(5) All (A), (B), (C) dand(D) ‘

(2) (B) and (C)
(4) (B) and (E)

67. MEAN =
(A) imply
B) u ‘
(C)a lﬂ
D) characteri
(1)Only(C) 4,
(2) Both (A) g@d (

(3) Only (A), ) and¥(D)
(4) Only (A), B)and(D)
(5) All (A), (B), (C) and (D)
68. REGULA
' (A) present
(B) commo:
(C) indiscri,
(D) unifo;‘

d by malice

inate

’

(1)Only(D)

(2) Both (B) and (D)

(3) Both (A) and (C)

(4) Only (B), (C) and(D)

(5) All (A), (B), (C)and(D)
69. MASK

(A) cover (B) hide
(C) conceal (B) disguise
(1) Only (A)

(2) Both (B) and (D)

(3)Only(B),(C)and(D)

(4) Only (A), (B) and (C)

(5) All (A), (B), (C) and(D)
70. ALONE

(A) exclusively

(B) morose

(C) solitary

(D) human being

(1) Only (4)

(2) Both (A) and

.

(5) All (A), (B)s(C)and(D)

Directions (71-85): In the
lowing passage there are blanks, ea
of which has been numbered. Thes
numbers are printed below the pas.

1-

sage an st each five words a;
suggest whlch fits the bla
pr ind out the appropr
or eaeh case.
he country embarks on }{n
g {7J1 the 12th Plan (2012-17) pe-

d a key question mark (72) hangs
over the process is on the energy re-
quirements.

Growth is energy hungry, and
the aspirations of growing at 9-10%

\ wil! (78) huge demands on the energy

resources of the country. In this ener-
gy jigsaw, f enewable energy will (74)
like never before in the 12th Plan and
ilfii.

By the rule of the thumb, India
will (76) about 100 gigawatts (Gw)-
100,000 megawatts-of capacity addi-
tion in the next five years. Encourag-
ing trends on energy efficiency and
sustained (77) by some parts of the
government-the Bureau of Energy Ef-
ficiency in particular needs to be com-
plimented for this-have led to sub-
stantially lesser energy intensity of
economic growth. However, even the
tempered demand numbers are (78)
to be below 80 Gw. As against this
need the coal supply from domestic

sources is unlikely to support more
than 25 Gw equivalent capacity. Im-
ported coal can add some more, but
at a much (79) cost. Gas-based elec-
tricity generation is unlikely to con- 4

tribute anything substantial in vigw |
of the unprecedented gas chal- . }
lenges. Nuclear will be (@) e fore- 3
seeable future. Betwe m orted r
coal, gas, large hydro an uclear no

more than 15-20Gw .ﬂulvalent can
be (81) to be added in the fiye-year
time block. f ’

18, capacity ad
on Egy based Iz‘ver
d about 3Gw a
ear. In the'ecomingf¥ive years, the over-
capacity addition in the electrici-
ty grid (84) renewable energy is like-
1§ to range between 20Gw and 25Gw.
ditionally, over and above the grid-
sed capacity, off-grid electricity
pplications are reaching remote
laces and (85) lives where grid-baseci
electricity supply has miserably
failed.

71. [D#against (2) for
&nwards (4) at
[5) on

72. (I)that (2) inside
(3) always (4) who
(5) where

73. [1) forward (2) subject
(3) place (4) demand
(5) replace

74. (1)pass (2) publish
(3) feature (4) find
(5) light

75. (1) likewise (2) publicity
[3) next (4) after

(5) earlier
76. (1) waste

(3) highlight

(5) consumed
77. (1) structures  (2) efforts

(3) projections  (4) practices

(5) developmental

(2) require
(4) generate

78. (1) sure (2) unsure
(3) unexpected (4) unlikely
(5) likely

79. (1) nominal (2) excelled
(3) higher (4) lower

(5) expected
80. (1) failure

(3) dangerous

(5) marginal

(2) success
(4) maximum
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e
'l'."i J through the glo

81. (1) certain (2) linked
(3) remarked (4) expected
(5)sure

82.. (1)When (2) Bui
(31 However Cco if
(5) As

83. (1) for (2) with
(3)is . (4) ever

(5) against
84. (3) through

(3) versus

(5) capacity
85. (1) lightening

(3) touching

(5) generating

Directions (86-92) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words are printed in bold to
help you to locate them while answer-
ing some of the questions.

In a reversal of the norm else-
where, in ';dia policymakers and
economists have become optimists
while bosses do the worrying. The
country's Centra! Bank has predict-
ed that the country's economy is like-
ly to grow at a double digit rate dur-
ing the next 20-30 years. India has
the capability with its vast labour
and lauded entrepreneurial spirit.
But the private sector which is sup-
posed to do the heavy lifting that

(2) project
(4) against

(2) making
(4) saving

turns India from the world's tenthgs

largest economy to its third largest
by 2030 has become fed up. l%m
people often carp about adi
lems but their irritation t
anervous edge. In the fir quarter
2011, GDP grew at an an
7.8 percent; in 5-07 it man
10 percent. The edonomy may ?
ing natural the low interes antes
and public ng that got India
isis are belated-

Ss
al rat (}

ly withdrawn. At
surge in inflation
tant food prices
widely, casting dofibt over whether
India can grow at &10 percent in the
medium term without overhearing.
In India, asjin many fast grow-
ng nations, the donfidence to invest
depends on the donviction that the
long term trajecta¥y is intact and it is
that which is id' doubt. Big Indian
firms too sometimes seem happier to

"r

invest abroad than at home, in deals
that are often hailed BE symbols of
the country's growing clout but some-
times speak to its weaknesses - pur-
w fei 88 CF natural resources that In-
dia has in abundance but struggles
to get out of the ground. In fact a fur-
ther dip in investment could be self-
fulfilling: if fewer roads, ports and
factories are built, this will hurt both
short term growth figures and reduce
the economy's long term capacity.
There is a view that because a
fair amount of growth is assured the
government need not try very hard.
The liberalisation reforms that ian
in 1991 freed markets for pr
and gave rise to vibrant co
at the same time what
call factor markets, th
inputs like land, power,
main unreformed an
state control, which
ties. Clearances tod
to four years and ma
keen to replace workers with
chines despite an abundance of labou
force. This can be attributed to labour

laws whi inimical to employe,

creation %‘educatlon syste

that me g quality manpo
Ta] problem. In fact the Pla
nin mission, concluded that

vgn achieving 9 percent growth will
d marked policy action in unre-
ormed sectors. Twenty years ago it
was said that the yardstick against
which India should be measured was
its potential and it is clear that there

remains much to do.
86. Why are employers reluctant to

hire Indian labour force?

(A) India's labour force is over-
qualified for the employment
opportunities available

(B) High attrition rate among
employees stemming from
their entrepreneurial spirit.

(C) Labour laws are not condu-
cive to generating employ-
ment.

(1) Only (C)

(2) All (A), (B) and (C)

(3) Only (A) and (C)

14) Only (A) and (B)

(5) None of these

87. What is the state of India's ba-
sic input sectors at present?

(1)'These sectors attract For-
eign Direct Investment be- 1
cause of their vast potentialIil

(2) These sectors are lagging as
projects are usually award-
ed to foreign companies.

(3) These sectors are *ﬁ tlng
and badly in need igrms

(4) These sectors argiwell \regu-
lated as these al governed
* by the State . 1

(5) None of these
88. Which oit followinggm !

said ab: the Indian eco

at prgsen

(1) Ithean comfortably achieve
double, di; 'é?;rowth rate at
presen,

(2) High f¢ t;'d-prices have led to
overheating of the economy.

(3) Citizens;are affluent owing
to laxity in regulation.

(4) Private sector confidence in
India's growth, potential is
high

(5) Unreformed sectors are a

#ag on economic growth.
at impact has the GDP

growth of 7,8 percent had?

(A) Indian Industry is anxious
about India's economic
growth.

(B)India has achieved status as
the world's third largest
economy at present.

(C) Foreign investment in India
has drastically increased.

(1) Only (A)

(2) All (A), (B)&.(C)

(3)Qnly(A)&(C)

(4) Only (A) & (B)

(5) None of these

90. Which of the following is most

opposite in meaning to the word
MARKED given inbold as used
in the passage?
(1) Decreased  (2) Ignored
(3) Clear (4) Assessed
(5) Imperceptible
. What is the author's main ob-
jective in writing the passage ?
(1) Showcasing the potential of
India's growth potential-to
entice foreign investors
(2) Exhorting India to imple-
ment measures to live up to
its potential

9

Jury
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(3) Recommending India's mod-
el of development to other
developing countries

(4) Berating the private sector
for not bidding for infrastruc-
ture development projects

(5) Criticising the measures
taken by India during the
global economic crisis

What measures do experts sug-

gest be taken to ensure target-

ed economic growth?

(1) Lowering of interest rates to
help industries hit by reces-
sion

(2) Prolonged financial support
for basic input industries

(3) Incentives to Indian compa-
nies to invest in infrastucture

(4) Formulation of policies and
their implementation in fac-
tor markets

(5) Stringent-implementation
of licensing system

Directions (93 - 100) : Read

the following, passage carefully and

answer the questions given, below it.

Certain words/phrases have been

printed in bold to help you locate them

while answering some of the ques-
tions.

In February 2010 the Medical
Council of India announced a majoz'
change in the regulation governing the
establishment of medicaj.collp J&8T
With this change, corporate, entities

92.

were permitted to open Ilﬁg col-
leges. The new regulatﬂn aJ‘IJ earned
the following warning@"p ntﬁshn
shall be withdrawn if t colleg

sort to commergialization”. Si
regulation does ot elaboratei‘n hat
constitutes{resorting to commercial-
isation", avill presumably be a
matter left t8¥Mthe discretion, of the
Government.

A basic rel e t for a new
medical college ifla presexisting hos-
pital that will serle as a teaching hos-
pital. Corporate Entities have hospi-

o tals in the majof metros and that is
where they will have to locate medi-

~ cal colleges. e earlier mandated
land requiremdnt for a medical col-
lege campus, imum of 25 acres of
contiguous land, cannot be fulfilled in
the metros. Not surprisingly, yet an-
othgr tweak has been made in the reg-

"r

ulation, prescribing 10 acres as the
new minimum campus size for 9 cit-
ies including the main metros. With
this, the stage is set for corporate en-
tities to enter the medical education
market.

Until now, medical education in
India has been projected as a not-for-
profit activity to be organised for the
public good. While private bodies can
run medical colleges, these can only
be societies or trusts, legally non-prof-
it organizations. In opening the door
to corporate colleges, thus, a major

policy change has been effec dwith-'

out changing the law or even
sion in Parliament, but by si
ting a compliant MCI t
regulation on establish
cal .colleges. This an
have been justified i
dressing the short
the same time, ove

having failed to meet the basic st
dards prescribed. Ninety per cent

these eges have come up in the
5 years icularly shocking is
pheno f government colleges

lin shox;.t of standards approved
by*t. overnment. Why are gstate
overnmment institutions not able to
eet the requirements that have been
approved by the central government?
A severe problem faced by govern-
ment-run institutions is attracting
and retaining teaching faculty, and
this is likely to be among the major
reasons for these colleges failing to
satisfy the MCI norms. The crisis

'lm up on the faculty front has
been flagged by various commissions
looking Into problems of medical ed-
ucation over the years.

An indicator of the crisis is the
attempt to conjure up faculty when
MCI carries out inspections of new
colleges, one of its regulatory func-

tions. Judging by news reports, the.

practice of presenting fake faculty-
students or private medical practitio-
ners hired for the day -during MCI in-
spections in private colleges is com-
mon. What is interesting is that even
government colleges are adopting un-
scrupulous methods. Another indi-
cator is the extraordinary scheme,

verging on the ridiculous that is be-
ing put in place by the MCI to make
inspections 'foolproof. Faculty in all
medical colleges are to he issued
RFID based smart card by the M
with a unique Faculty Number.

=L
card, it is argued, will elimi: ateﬁe

possibility of a teacher being shown ‘ }
on the faculty of more n one col- =
lege and establish if th@\liﬁca‘cions r
of a teacher are genuine In the futur
it is prOJected that blomet S
den-

readers wil nstalled 1

leges tHat wi ble a Facul
tificatio: oring
System lmomt r faculty from with-

and Mo
in the college an &ven remotely from
CI headquarters.

The picture above does not even
tart to reveal'the true and pathetic
ituation of medical care especially
in rural India. Only a fraction of the
doctors and nursing professionals
serve rural areas where 70 per cent of
our population lives. The Health Min-
istry, with the help of the MCI, has
been agtive in proposing yet another
i give' solution to the problem
ack of doctors in the rural areas.
The proposal is for a three-and-a-half
year course to obtain the degree of
Bachelor of Rural Medicine and Sur-
gery (BRMS). Only rural candidates
would be able to join this course. The
study and training would happen at
two different levels -Community
Health Centers for 18 months, and
sub-divisional hospitals for a further
period of 2 years -and be conducted
by retired professors. After comple-
tion of training, they would only be
able to serve in their own state in dis-
trict hospitals, community health
centres, and primary health centres.

The BRMS proposal has invited
sharp criticism from some doctors'
organisations on the grounds that it
is discriminatory to have two differ-
ent standards of health care -one for
urban and the other for rural areas,
and that the health care provided by
such graduates will be compromised.
At the other end is the opinion ex-
pressed by some that "something is
better than nothing", that since doc-
tors do not want to serve in rural ar-
eas, the government may as well cre-
ate a new cadre of medics who will be

the col-
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obliged to serve there. The debate will
surely pick up after the government
formally lays out its plans. What is
apparent is that neither this propos-
al nor the various stopgap measures
adopted so far address the root of the
problem of health care. The far larger
issue is government policy, the low
priority attached by the government
to the social sector as a whole and the
health sector in particular, evidenced
in the paltry allocations for maintain-
ing and upgrading medical infrastruc-

ture and medical education and for look-

ing after precious human resources.
93. What solution is being offered
by the Health Ministry for the
shortage of doctors in rural ar-
eas ?

(1) Increase the number of gov-
ernment run hospitals in the
rural areas thereby increas-
ing the number of doctors
catering to the people in
these regions.

(2) Make it mandatory for doc-
tors serving in the urban ar-
eas to serve in the rural ar-
eas for a specific number of
years.

(3) Set up increasing number of
community health centres in
rural areas.

(4) Hire retired professors of
medicine to offer digal
help to people li 'ngi1 e
rural areas till 1 ti
more doctors are [@ppointed.

(5) Run a_segparat

course f
years whieh can be ta P
only Byyraral candidtes who

wou imately serve in
* the rural areas.

94. Why have sopfg c¥isting medi-
cal colleges en Prohibited
from admittin@ studdnts ?
(1)As these hfive adopted cor-

rupt practiges and have been

L taking huge donations from

4§ their students

colleges were il-

up and were not

y the government

in the fifst place

(3) As the course offered by these

~ colleges is not in line with

the course offered by the gov-
ernment run colleges

‘.

medichl#
three and a half

(4) As these have failed to meet
the norms set by the central
government for running the
college.

(5) As there are absolutely no
faculty members left in
these colleges to teach stu-
dents.

95. Which of the following is/are the
:change/s announced by the MCI
in the regulation governing the
establishment of medical colleg-

es? "

(A)Allowing the commercia
tion of medical colleg

(B) Reducing the earli

a medical colle
metros.

(1)Only(B)
(2) Only (A) and (B)
(3) Only (C)
(4) Only (B) and (C)
5) (A), (B) and (C) are true
96. Whi % following are th
diffegent opinions regarding th
BRMS proposal ? ¥
1 least a small step lr/s
' en taken to improve the
J healthcare facilities in the
rural areas through this pro-
posal.

(2) There should be uniform
healthcare facilities avail-
able for people living in both
rural and urban areas.

(3) The healthcare providers
through this proposal would
not be up to the mark.

(1) Only (4)

(2) Only (A) and (B)

<3) Only (B) and (C)

(4) Only (B)

(5) All (A), (B) and (C)

97. Which of the followinig is most
similar in meaning to the word
SHOCKING given in bold as
used in the passage ?

(1) wicked (2) pleasing

(8) appalling (4) electrifying

(5) scandalous

98. What is one of the major prob-
lems faced by the government-
run medical institutions ?

(1) Dearth of land required for,
the setting up of medical in-

&

stitutions. L |
(2) Lack of funds for running th% 1
colleges.
(3) Dearth of teaching Ity.
. ""'-
(4) Excessive comp n-'.from

colleges run byW¥eorporate
bodies. -— J

(5) Deart. of&udents opr for

these colleges.

. What i egldea behind#e
MCI tt}rﬁg{&ce the RFID-

* basedismart L
(A) To monitot and track facul-

ty from MCI headquarters in
the futur-e.ll

(B)To put a stop to the practice
of colleges of presenting fake
faculty members.

(C)To verify the authenticity of
faculty member qualifica-
tions.

(1) @nly (A) and (B)
& (), (B) and (C)
(3) Only(C)

(4) Only (B) and (C)
(5) Only (B)

. What is the author's main

intention behind writing this

passage?

(1) To make the general public
aware of the healthcare fa-
cilities available in India.

(2) To bring to light the prob-
lems faced by the health care
sector in India despite
changes suggested and goad
the government into attach-
ing priority to the sector.

(3) To bring to light the prob-
lems faced by rural people in
terms of healthcare facilities
and thus exhort urban doc-
tors to serve in the rural ar-
eas

(4) To make the general public
aware of the benefits arising
from the changes brought
about by the MCI in the
healthcare sector.

(5) To urge the corporate bodies
to look into the matter of
healthcare facilities in the
rural areas.
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